TumoN Year 4 Worksheet 3: Multiplication and Division

Level: Beginner

THE POWER OF
KNOWING

3.12'3="7

4.Fillin:9' =81
5.100'10="7

6.11'3="7?

7.48'8="7?

8.4'12="7

9. What is the product of 6 and 67?

10. Complete the fact family: 8' 6 =48, ' =

[Use the space below to work out your answers. Show all your working.]



8.

9.

Uit Year 4 Worksheet 3: Multiplication and Division

Level: Intermediate

THE POWER OF
KNOWING

.13'4="7

. Divide: 96 '8 = ?

. Multiply a 2-digit by 1-digit: 24 ' 6
.132'11="7

.Solve: 15'5-25="7

. Use grid method: 23 ' 4

. Estimate: 39'6"'?

Write a division fact for 72 and 8

Solve:; 11'9="?

10. Solve using formal method: 126 ' 6

[Use the space below to work out your answers. Show all your working.]



Uit Year 4 Worksheet 3: Multiplication and Division

Level: Difficult

KNOWING

1. Solve: 42'8

2. A bus carries 32 passengers. How many on 4 buses?
3.132'12="7

4. Multiply: 34" 7

5. Divide: 144 ' 12

6. A crate has 6 rows of 24 cans. How many in total?

7. Estimate: 78 '5

8.Solve:48'4+6'3

[(e]

. Complete the sequence: 8, 16,24, ,

10. Write a word problem for: 72' 6

[Use the space below to work out your answers. Show all your working.]



8.

9

Uit Year 4 Worksheet 3: Multiplication and Division

Level: Super Challenging

KNOWING

. Use formal written method: 84 ' 6

.960'12="7

. What is the remainder in 87 ' 5?

. Explain: Whyis7'6=6"'7?

. A cinema has 25 rows of 12 seats. How many seats?
. Solve: 432" 12

. Use partitioning: 38 ' 7

Estimate and check: 46 ' 9

. True or false: 144 '12 =11

10. Solve: (132'6) + (4 ' 8)

[Use the space below to work out your answers. Show all your working.]



